                                Самостійна робота                 

                                          3 рівень

                           140- 70=             1 кг – 560 г =

                           640+220=            1 м – 30 см =

                                           Задача

                         У 5 пакетах 40 кг груш. Скільки
                       пакетів треба,щоб розкласти 56 кг груш?
                                         4 рівень

                         800+(300-200)=       1кг+350г=

                         130+( 470-260)=       1ц-25кг=

                                            Задача

                         Скласти задачу за виразом і розв’язати:

                                       100-( 40+50)
